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QUESTION 1

The following parameter are set for your Oracle 12c database instance: 

OPTIMIZER_CAPTURE_SQL_PLAN_BASELINES=FALSE OPTIMIZER_USE_SQL_PLAN_BASELINES=TRUE You
want to manage the SQL plan evolution task manually. Examine the following steps: 

1.

 Set the evolve task parameters. 

2.

 Create the evolve task by using the DBMS_SPM.CREATE_EVOLVE_TASK function. 

3.

 Implement the recommendations in the task by using the DBMS_SPM.IMPLEMENT_EVOLVE_TASK function. 

4.

 Execute the evolve task by using the DBMS_SPM.EXECUTE_EVOLVE_TASK function. 

5.

 Report the task outcome by using the DBMS_SPM.REPORT_EVOLVE_TASK function. Identify the correct sequence
of steps: 

A. 2, 4, 5 

B. 2, 1, 4, 3, 5 

C. 1, 2, 3, 4, 5 

D. 1, 2, 4, 5 

Correct Answer: B 

 

QUESTION 2

View the Exhibit and examine the structure of the PROMOTIONS table. 
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Examine the following two SQL statements: 

Which statement is true regarding the above two SQL statements? 

A. statement 1 gives an error, statement 2 executes successfully 

B. statement 2 gives an error, statement 1 executes successfully 

C. statement 1 and statement 2 execute successfully and give the same output 

D. statement 1 and statement 2 execute successfully and give a different output 

Correct Answer: D 

 

QUESTION 3

Which two statements are true regarding constraints? (Choose two.) 

A. A table can have only one primary key and one foreign key. 

B. A table can have only one primary key but multiple foreign keys. 
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C. Only the primary key can be defined at the column and table levels. 

D. The foreign key and parent table primary key must have the same name. 

E. Both primary key and foreign key constraints can be defined at both column and table levels. 

Correct Answer: BE 

 

QUESTION 4

You need to create a table for a banking application. One of the columns in the table has the following requirements: 

1) You want a column in the table to store the duration of the credit period. 

2) The data in the column should be stored in a format such that it can be easily added and subtracted with date data
type without using conversion functions. 

3) The maximum period of the credit provision in the application is 30 days. 

4) The interest has to be calculated for the number of days an individual has taken a credit for. 

Which data type would you use for such a column in the table? 

A. DATE 

B. NUMBER 

C. TIMESTAMP 

D. INTERVAL DAY TO SECOND 

E. INTERVAL YEAR TO MONTH 

Correct Answer: D 

INTERVAL DAY TO SECOND stores a period of time in terms of days, hours, minutes, and seconds. This data type is
useful for representing the precise difference between two datetime values. 

You can perform a number of arithmetic operations on date (DATE), timestamp (TIMESTAMP, TIMESTAMP WITH
TIME ZONE, and TIMESTAMP WITH LOCAL TIME ZONE) and interval (INTERVAL DAY TO SECOND and INTERVAL
YEAR 

TO MONTH) data. 

?It stores duration of the credit as days 

?The format stored is numeric format, and you know that numeric values can be easily added and subtracted with date
data type without using conversion functions (i.e. SELECT SYSDATE ?1 FROM DUAL;) 

?The interest has to be calculated for the number of days an individual has taken a credit for, so it will be easy to
calculate interest by using the interest rate and duration of the the credit which is numeric format. 

References: 
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QUESTION 5

Examine this statement: 

SELECT student_id, gpa FROM student_grades WHERE gpa > andandvalue; 

You run the statement once, and when prompted you enter a value of 2.0. A report is produced. 

What happens when you run the statement a second time? 

A. An error is returned. 

B. You are prompted to enter a new value. 

C. A report is produced that matches the first report produced. 

D. You are asked whether you want a new value or if you want to run the report based on the previous value. 

Correct Answer: C 

Use the double-ampersand if you want to reuse the variable value without prompting the user each time. Incorrect
answer: 

A. is not an error 

B. andand will not prompt user for second time 

D. andand will not ask the user for new value Refer: Introduction to Oracle9i: SQL, Oracle University Study Guide, 7-13 
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